11.

14.

15.

17.

Math 121 — Section 6.6 Solutions

y =4sin(2z — )
amplitude = 4,

y = 3sin(3z — )
amplitude = 3,

y =3cos(rx —2)+5

amplitude = 3,

Yy = —3cos (Zx + g)
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Since the amplitude is 2, let A = 2.

Since the period is m, we have:

1
Since the phase shift is 50 Ve have:

Therefore, | y = 2sin(2z — 1) |.

Since the amplitude is 3, let A = 3.

T
Since the period is 5 we have:

Since the phase shift is 2, we have:

Therefore, | y = 3sin (4dx — 8) |.
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18. Since the amplitude is 2, let A = 2.

Since the period is w, we have:

Since the phase shift is —2, we have:

Therefore,

y =2sin(2z +4) |

phase shift =

[SIRSERSHESE

|
W~



